Y

UJCcoLLECTION"

'cmg;mm_\
@,

ASSEMBLY INSTRUCTIONS
ITEM NO: 8068-215/216/935
QUEEN BED - RUSTIC GREY

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small
parts that may have come loose inside the carton during shipment.

Dowel Wood
IA
: @) A _—C TOOLS REQUIRED (NOT PROVIDED)
| N : PHILLIPS SCREWDRIVER

PARTS LIST QTY

) A | Headboard % 1pc

B | Headboard Leg(L/R) = Zpes

C | Bottom Rail / 1pc

) 4 D | Footboard / 1pc

A N

b E | Slats / 4pcs

AJQH F | Slats Support 4pcs

>/K G | Rails A ET

Step 2 HARDWARE LIST

NO. DESC SKETCH |QTY'

H | Bolt @5/16"*2" g 8pes
1 Lock Washer @5/16"*12%*3 (=) 16pcs

J | Flat Washer ©@5/16"*19%2 (&) 8pes

K | Allen Wrench 5mm P 1pc

L | 4" Straight Allen Wrench / 1pc

M | Wood Screw 8#*1" s 8pcs

N | Bolt @5/16"*4-1/2"L e 8pcs

O | Curved Washer L32%13*8 @ 8pes

P | Nut@5/16"*12 =) 8pcs

X | Open Wrench 12mm o —) 1pe

2
Adjustable; Level-/é

MADE IN VIETNAM




